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Spermatogenesis occurs in the of each

testes. These tubules are lined with immature cells called

Define:
Lumen:

Primary Spermacytes:

Secondary Spermacytes:
Spermatids:

Complete the diagram below
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Qogenesis

Define:
Oogonia:

Primary Oocyte:

Primary Follicle:

Secondary Oocyte:

Polar Body:

Ovum:

Gomplete the diagram below

At what stage are oogonia produced?

At what stage does follicle growth and maturation occur?

Why is it necessary for polar bodies to be produced rather than 4 ova?

List 5 important differences between oogenesis and spermatogenesis
1.

2.

3.

4.
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MITOSIS

FIRST
MEIOTIC
DIVISION

Oogonium

Primary

* .
Oocyte Present at birth

Starts Meiosis I, but stops at Prophase |

OCCURS IN FOETUS

First polar
SECOND | body
MEIOTIC

DIVISION

Secondary polar
body

Secondary

PUBERTY (OCCURS EACH
MONTH UNTIL MENOPAUSE)

Oocyte Starts Meiosis I, but stops at Metaphase Il

Ovulation

Sperm cell

Secondary polar
body

If Fertilisation occurs = Meiosis Il resumes

Fertilised Ovum

Sperm + Ovum = Zygote (Diploid)
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